
Time: 10 Minutes Paper Math 4 Total Marks: 10

2nd Month, 1st Week, 2nd Day Syllabus: Unit 2 Exercise # 1  Q No. 1.

Q.No.1 Encircle the correct answer from the following choices. (3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. Tick the number that is divisible by 2: ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„ìììì:::: 2 QQQQkkkk°°°°ŠŠŠŠÅÅÅÅÙÙÙÙ||||####™™™™,,,,����

(a) 43 (b) 16 (c) 98 (d) b and c ŠzâV c Zzg b

ii. Identify the number that is not divisible by 2:

ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„7777ìììì:::: 2 ZZZZkkkk°°°°ŠŠŠŠÅÅÅÅÙÙÙÙ||||####™™™™,,,,����

(a) 540 (b) 2114 (c) 67 (d) 134

iii. Identify the number that is divisible by 3:

ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„ƒƒƒƒ:::: 3 ZZZZkkkk°°°°ŠŠŠŠÅÅÅÅÙÙÙÙ||||####™™™™,,,,����

(a) 50 (b) 2298 (c) 30 (d) Nune Ãð7

iv. Identify the number that is not divisidble by 3.

ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„7777ìììì???? 3 ZZZZkkkk°°°°ŠŠŠŠÅÅÅÅÙÙÙÙ||||####™™™™,,,,����

(a) 1982 (b) 30 (c) 15 (d) 21

v. The number divisible by 5 is: ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„°°°°ŠŠŠŠìììì:::: 5

(a) 9226 (b) 27 (c) 7895 (d) 21943

vi. The number divisible by 10 is: ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„°°°°ŠŠŠŠìììì:::: 10

(a) 56560 (b) 42420 (c) 130 (d) All tÓx

Q.No.1.   If the following numbers are divisible by 2 or not? (2)

(i)    67      (ii)   9226

ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„÷÷÷÷cccc****7777???? 2 ::::MMMMcccc****āāāāŠŠŠŠgggg̀`̀̀ffffssssZZZZ°°°°ZZZZŠŠŠŠ 1 ÎÎÎÎZZZZwwww����

Q.No.2.   Check if 52110 is divisible by 3 or not? (2)

ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„ììììcccc****7777???? 3, 52110 ::::ssssBBBB™™™™,,,,MMMMcccc****āāāā 2 ÎÎÎÎZZZZwwww����

Q.No.3.  Check if 1982 and 42420 or divisible by 10 or not: (3)

ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„÷÷÷÷cccc****7777:::: 10 ÔÔÔÔ42420 ZZZZzzzzgggg 1982 ::::7777,,,,@@@@****wwww™™™™,,,,MMMMcccc****āāāā 3 ÎÎÎÎZZZZwwww����
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